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1. IlepedyeHs MuIaHNMPYeMBbIX Pe3yJIbTATOB 00Y4YeHHS MO JUCHUIIIHHE, COOTHECEHHBIX C
IJIAHUPYEMBbIMH pPe3y/1bTaTaMH OCBOECHHS IPOrPaMMbl

1.1 luctmmmaa b1.5.03 MHOCTpaHHBIN S3bIK 00ECHEeYMBaeT OBJAJECHUE CIICAYIOIIUMU
KOMIIETCHIIMSIMH C YY4E€TOM JTara;

Kon HaumenoBanune Kon »sTama ocBoenusa HaumenoBanue 3Tama

KOMIIETEHIIH KOMIIETEHITUH KOMIETEHIINH OCBOEHUSI KOMIIETEHIINH

u

YK-4 Cniocoben YK-4.1 CrocoO6HOCTh MIPOBECTH
OCYIIECTBIATH AenoBy0 | YK-4.2 JIEIIOBYIO BCTpEUy
KOMMYHHKAIIAIO B YK-4.3 (my6mu4HOE  BBICTYILICHHE)
YCTHOW U MUCbMEHHOMN HAa UHOCTPAHHOM S3BIKE.
dbopmax Ha CrocoO6HOCTh MIPOBECTH
TOCYJIapPCTBEHHOM SI3bIKE JICJIOBYI0  TIEPENUCKY  Ha
Poccuiickoit @enepanuu WHOCTPAHHOM SI3BIKE.
¥ MHOCTPaHHOM(bIX)
s13b1Ke(ax)

OIIK-4 CrnocoOHOCTh OIlIK-4.1 CriocoOHOCTh IIPOBECTH
OCYUIECTBIIAT  JIETIOBOE nyOnuyHOEe  BBICTYIUICHHE,
obmieHre W MyONMMYHBIC MIPE3CHTAIIHIO.

BBICTYIUICHHUS, BECTU
TIEPErOBOPHI,

COBEILIaHUS,
OCYIIECTBIIATH JIEJIOBYIO
MIEPETHCKY u
MOJIICP>KUBATh
ANEKTPOHHBIE
KOMMYHHKAITUU

1.2.

B PE3YJIbTATC OCBOCHUSA JUCHUIJIMHEL Y CTYJICHTOB JOJIKHBI OBITh C(I)OpMI/IpOBaHBI:

OTO/TD Kop srana PesynbTaTsl o0yueHus
(mpu HanMYMK OCBOEHUS
npodcrangapra)/ KOMIICTEHIIH
npodeccuoHaIbHbIE
JEUCTBUS
OIlK-4.1 Bri6upaet anekBaTHyto (popmy JAeI0BOTO
JOKyMEHTA.
CobnromaeT TpeOOBaHUS K SI3BIKY JECJIIOBOTO
JOKyMEHTA.
CobmrogaeT TpeOoBaHUs 110 OPOPMIICHHUIO JIETTOBOTO
JOKyMEHTA.
OTtbupaet cogepx aHue JeI0BOTO TOKYMEHTA,
aJIeKBaTHOE IeJIM ero HAalMCaHusI.
VK-4.1 Omnpenensier ¥ OOOCHOBBIBACT LEdb IyOJIUYHOTO
VK-4.2 BBICTYIUICHHS (TIPOBE/ICHHS I€TIOBON BCTPEUH).
YK-4.3 Bribupaer a/IeKBaTHYIO bopmy JIEJI0BOM
KOMMYHUKAITUH.
Pa3pabarbiBaeT 1UIaH MyOJIMYHOTO BBICTYIUICHUS
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(nemoBoii BCTpeuH).

[TonOupaer anekBaTHbIE apryMEHTHI, YIIPABISET
KOMMYHHKaIUEH

JleMOHCTpHpyeT 3HaHHE HOPM JEJIOBOTO STHKETa
JlenaeT 000CHOBAHHBIC BHIBOJIBI

BreiOupaer  amexBaTHYIO bopmy  neNoBOTO
JOKyMEHTA.

CoOmomaer TpeOOBaHUS K  SI3BIKY  JEJIOBOTO
JOKyMEHTA.

Cobmtonaer TpeboBanus M0 0GOPMIICHHIO JIETIOBOTO
JOKyMEHTA.

OtOupaer comepkaHHe JIEJIOBOTO  JOKYMEHTA,
aJIeKBaTHOE IIETTM €T0 HAITUCAHUS

CaMOCTOSTEIIFHO INIAaHUPYET U IPOBOAUT ACIOBYIO

BCTpEUy (my6nuyHOE BBICTYIIJICHHE) Ha
HMHOCTPAHHOM SI3bIKE
JleMOHCTpUpYET CBOOOIHOE BJIAJICHHE

crenuuUecKko JIEKCUKOH, pachpoCTpaHEHHOH B
JIeoBoM cdepe

JIeMOHCTpUpYET 3HAHUE JIETOBOTO 3TUKETA CTPAaHBI
KOHTpareHTa

Bribupaer agexBatHyo (hopMy A€I0BOTO JOKyMEHTa
CTpaHbl KOHTPAreHTa.

CobOmtonaer TpeOoBaHUS K  S3BIKY  JI€JIOBOIO
JOKyMEHTa CTPaHbl KOHTPAreHTa.

Cobimronaet TpeboBaHus 10 0GOPMIICHUIO JIEJI0BOTO
JOKyMEHTa CTPaHbl KOHTPAreHTa.

OtOupaer comepkaHWe JEIOBOTO  JIOKYMEHTa,
aJICKBaTHOE I1eJIM €r0 HalMCaHus

2. O0beM U MecTO AUCHHUILINHBI B cTpykType OIl BO

O0beM TUCHHUIINHBI

O0bem auctmrinHbl: 684/513
KonTakrtHast padora: 372/279
Jlexunn

JlaGopaTopHble paboThI
[MpakTrueckue 3anstus 372/279
CamocrosiTesnbHas padota 276/207

Mecto nucuunimnsl B ctpykrype OII BO

WHACKC 1 HauMeHoBaHue quciuruinibl: b1.6.03 MHocTpaHHBIi S3BIK

KypCBI, CEMECTPhI €€ OCBOCHMS B COOTBETCTBUHU C yueOHbIM IaHoM: 1, 2, 3 kypc, 1-6

ceMectp

JVCIUITIMHA OCBAaMBACTCS MAPaJUICIBHO C:
b1.B.JIB.01.01 ITpodeccuoHanbHbIi UTATbIHCKUNA S3bIK
b1.B./1B.01.02 IlpodeccrnonanbHblil ppaHIly3CKUAN S3BIK




JTUCIUTIIINHA CITYKUT OCHOBOM JISI:
b1.5.11 CamomeHemXMEHT
b2.I1.2 TlpepaumuioMHas nMpakTHKa

dopma(bl) IPOMEKYTOUHOMN aTTECTAIIMU B COOTBETCTBHUHU C yUCOHBIM IUTAHOM: DK3aMeH

3. ConepixaHue ¥ CTPYKTYpa THCHMIJIMHBI

Ounasa popma odyuenusn

Ne i/ HaumeHnoBaHnue TeM O0beM AMCHMILIHHBI (MOXYJIsA), Yac. ®opma
(pasnenos), Bcero KonTakTHas pagora CP TeKymiero
o0yuyaromuxcs ¢ KOHTPON
ycneBaeMoCcTu™ ™,
npenoaaBarejeM T —
10 BUJIAM YUeOHBbIX 3aHATHI aTTecTanUU™*
/30, JIP/ D0, m3/30, | KC
A0T* JA0T* JI0T* P
Temal | Akagemmuyeckoe 126/94 81/ a, T
YyTeHHne 5 ’ 60,
75
Tema 2 | AkageMuueckoe 126/94 81/ AT
Hucsmo 5 ’ 60,
75
Tema 3 | AynmpoBaHue 126/94 81/ a, T
' 60,
5 75
Tema4 | F'oBopenne 126/94 81/ I, T
' 60,
5 75
TIpomerxyTouHas Jx3ameH
arTecTanys
Bceero: 684/513 864/6 324 36/27
48 124
3

*[Ipumeuanue —mecmuposanue (T), oucnym (/)

Coaep:xanue TMCHMILINHBI

Ne HaumeHoBaHHe TeMbI

Conep:xaHue TeMbI

Tema 1 AKageMHu4eckKoe

YTECHUE
(IELTS/BEC)

JlanHblii KOMOOHEHT (aKaJeMUYECKOEe YTEHHE) 3aTparkBacT TEMATHKY, C
KOTOpOHM ciylmarend CTOJKHYTbCSL Ha »5k3aMeHe. HaBblku 4TeHus
TPEHUPYIOTCS TpH paboTe C pasHBIMH THIAMH  BOIPOCOB K
akageMuueckoMy TekcTy. Crofia BXOIAT CIEIYIONINe HAaBBIKH. CKOPOCTHOE
YTEeHHUE, Paclo3HaBaHUE MO3MILMHU aBTOpa, aHAIHM3 CTPYKTYPHI apryMeHTa,
YMEHHUE BBIIEIATH TNIABHYIO HJEI0, YMEHHE OBICTPO HAXOTUTH (PaKTHIECKYIO
nHGOPMAIHIO, Pa3BUTHE CITIOCOOHOCTH MCIIONB30BaTh KOHTEKCT IpH paboTte
C TEKCTOM.




Ne HaumeHoBaHue TeMbl Conep:xaHue TeMbl

Tema 2 AKaneMuuyeckKoe | AKaIeMUYECKOE MMCHMO OXBATHIBAET KIFOUEBBIE CTAIMH MPOIIECCA MUChMA!
MHCBMO OT aHaju3a MUCbMEHHOTO 3aJaHHs 10 BHECEHHUS KOPPEKTYpHOIl MpaBKH.

IELTS/BEC) Croia Tak)ke BXOIAT HABBIKH, CTPATETUH, a TAKXKE JICKCUKA U CTHUIIUCTHKA,
( KOTOPBIC HEOOXOAMMBI CIYIIATENIIM HE TOJBKO S YCHCIIHOW  CHadu
9K3aMEHOB, HO ¥ YCIICIIHON NHCHPMEHHOW KOMMYyHHWKaruu. Ciymarenn
OCBOSIT HAITMCAaHWE PA3NHYHBIX BHIOB TEKCTOB, TAKMX KaK O(HIIaNbHBIC
MUCHMa, OTYETHI, 3asIBKU H AIIEKTPOHHBIEC TUCHMA.

Tema 3 | AynupoBaHue Jlnst pa3BUTHSL HaBBIKOB BOCIIPHSTHS Ha CIyX UCIOJB3YIOTCS MarepHalbl,
(IELTS/BEC) 3aTparuBarolIye pa3INyHyI0 TeMaTHKy. Pa3BUBarOTCS ClleAyOIe HaBbIKHU:
NPOTHO3UpOBaHKE, O00OOLICHUE, BBIACICHUE KIIOUEBOH HH(pOpMALHUH.
Takoke fenaercst akIEHT Ha OCBOCHUE U MCIOJIB30BaHIE MaKpO-CTPATETHH.
B aHHOM KOMIIOHEHTE yIelsieTcs BHUMAHHE PA3BUTHIO aKaIeMHYECKHX
HaBBIKOB, KOTOpBIE IOMOTYT CIymarelsM 3()(GEKTHBHO TOTOBHTHCA U
3 (HEKTUBHO B3aMMOACIHCTBOBATE C MATepHalOM Ha JICKLHMHU: HAIHCAHHE
KOHCIEeKTa, 0000menue wHpopManuu. PasBHTHE JaHHBIX HABBIKOB
MPOUCXO/IUT HA TAKHX YU4COHBIX MaTepHaliax, Kak IPe3eHTalld, HHTESPBBIO,
JIEKIUH U TIp.

Tema 4 T'oBopenne B 1aHHOM KOMIIOHEHTE pacCMAaTPUBAIOTCS TEMbI, KOTOPbIe HanboIee 4acTo
(IELTS/BEC) BCTPEUAIOTCS [IPU MPOXOKACHHH MEXIyHapOAHbIX dk3ameHoB BEC u

IELTS. IIpu pa3BUTHN JAaHHOTO HAaBBIKA YACIACTCS BHUIMaHUE PA3BUTHIO
SI3BIKOBBIX KOMIIETEHIIMH B yCcTHO# peun. Ciyiarenu paboTaroT Haj
pa3BUTHEM CTPATETHid BEICHUS TUCKYCCHH, YTO MIO3BOJIUT UM aKTHBHO
y4acTBOBAaTh B Y4E€OHOM IMpoIlecce, B TPYMIIOBBIX 0OCYXKICHUSIX,
MOATOTOBKE M NMPOBEACHUH MTPE3CHTAIIHIA.

4. MarepuaJibl TEKyLIero KOHTPOJISA yCIIeBaeMOCTH 00y4YaloIuXcsi U
()oHI OLIEHOYHBIX CPEACTB MPOMEKYTOYHOM aTTeCTALMHU 110 AMCHHILIMHE

4.1. ®opmbl W MeTOAbI TEKYLIEro KOHTPOJISI yCIeBaeMOCTH, OOy4yalomuxcsi W
NPOMEKYTOYHOM aTTeCTALNH.

411. B xome peaqu3anuM JIUCHUIVIMHBI HCHOJB3YIOTCS CJeAYIOIIHEe MeTOAbI
TeKyLIero KOHTPOJIsl yCIIeBaeMOCTH 00y YAl IIUXCH

HpI/I MMPOBCACHNU 3aHATHH JIEKIIMOHHOI'O THUIIA:

Ipu MpOBCACHUN 3aHATUH CEMMHApPCKOT0 THUIIA. TECTUPOBAHUEC, TUCITYT



4.1.2. Jx3ameH (3a4eT) MPOBOAUTCS ¢ MPUMEHEHUEM CJIETYIOIINX MeTOT0B (CPeacTB):
DK3aMeH B BUJE TECTa

4. 2. MaTtepuaJjbl TEKyIIero KOHTPOJIs yCIIeBaeMOCTH 00yYar0IIMXCSI.

TecThbl M 321aHUA JIA MPOXOKIEHUSI HA 3aHITUIX
IELTS Akagemuueckuii MoayJib (1-bIii ron)
Ilpumep 3aganuii A1 padoThl B Kjaacce

IELTS Axanemuueckoe ureHue Tun 2/3 Pacno3snanue mHpopmanuu/OnpenesneHue
NMO3MIMH aBTOpPa

Onucanue

JlaHHOe 3aJaHKe TOTOBUT Clymiareiel K padore ¢ turmom Bompoca 2 u 3 (Pacrmosnanue
uHpopmanuu/OnpeneneHne MO3UIUH aBTOpa) MOCPEICTBOM IIONIATOBOTO pa3dopa CTpaTerdu
OTBETA Ha JIAHHBINA THIT BOIIPOCaA.

Bpema: 45 mun.

Jlononnumenshuvle mamepuansl. OONOIHUMENbHbIU MEKCM ¢ 80NPOCAMU OAHHO20 MUNA
0J151 0OMAUHE20 3A0AHUSL.

Henu: oceoumv cmpameauro HAXONCOEHUS OMEemMa HA BONPOC OAHHO20 MUNA
I8PUCIMUYECKUM NYMEM Yepe3 NOUla208020 pasbopa.

IELTS Academic Reading Task Type 2 (ldentifying Information) and Type 3
(Identifying Writer’s Views/Claims) Activity — Student’s Worksheet 1

Exercise 1

1. Read this statement:

Thirty per cent of deaths in the United States are caused by smoking-related diseases.

2. Discuss with your partner which key words in the statement you could scan the text for.

3. Remember synonyms or paraphrasing might be used. Brainstorm some different ways
of expressing this same information.

4. Start at the beginning of the text and scan the text until you find the part which this
statement refers to. See if you can find the relevant section more quickly than your partner.
Underline the sentence(s). Which words from the statement did you find in the text?

Exercise 2

1. Read this statement:

If one partner in a marriage smokes, the other is likely to take up smoking.

2. Discuss with your partner which key words in the statement you could scan the text for.

3. Remember synonyms or paraphrasing might be used. Brainstorm some different ways
of expressing this same information.

4. Start from the place in the text where you found your last answer. You do not need to
start at the beginning again as the answers are in the text order. Scan the text until you find the part
which this statement refers to. Try to find the relevant section more quickly than your partner.
Underline the sentence(s). Which words from the statement did you find in the text?

Exercise 3

1. Repeat the process with the statements:

Teenagers whose parents smoke are at risk of getting lung cancer at some time during their
lives.

Opponents of smoking financed the UCSF study.

2. Look at the key to worksheet 1. Compare your underlined sections in the text with the B
sentences in the key. Did you find the same ones?

IELTS Academic Reading Task Type 2 (ldentifying Information) and Type 3
(Identifying Writer’s Views/Claims) Activity — answer keys



Key to Worksheet 1

1 A Thirty per cent of deaths in the United States are caused by smoking-related diseases.

1 B Smoking, it is believed, is responsible for 30 per cent of all deaths from cancer.

2 A If one partner in a marriage smokes, the other is likely to take up smoking.

2 B In the case of a married couple where one partner is a smoker and one a non-smoker,
the latter is believed to have a 30 per cent higher risk of death from heart disease because of passive
smoking.

3 A Teenagers whose parents smoke are at risk of getting lung cancer at some time during
their lives.

3 B It has been calculated that 17 per cent of cases of lung cancer can be attributed to high
levels of exposure to second-hand tobacco smoke during childhood and adolescence.

4 A Opponents of smoking financed the UCSF study.

4 B A more recent study by researchers at the University of California at San Francisco
(UCSF) has shown that second-hand cigarette smoke does more harm to non-smokers than to
smokers. The report, published in the Journal of the American Medical Association (AMA), was
based on the researchers’ own earlier research but also includes a review of studies over the past
few years. The American Medical Association represents about half of all US doctors and is a
strong opponent of smoking.

IELTS Academic Reading Task Type 2 (ldentifying Information) and Type 3
(Identifying Writer’s Views/Claims) Activity — Student’s Worksheet 2

Read each pair of sentences in the key carefully.

Does sentence B have the same meaning as sentence A?

This means you answer “Yes’ or “True’.

Does sentence B contain some information that contradicts sentence A?

This means you answer ‘No’ or ‘False’.

Is the main point of the two sentences completely different?

This means you answer ‘Not given’.

Always read the instructions carefully to see whether you should be answering Yes, No and
Not given or True, False and Not given.

In this task, you answer

YES if the statement reflects the claims of the writer

NO if the statement contradicts the claims of the writer

NOT GIVEN if it is impossible to say what the writer thinks about this

Compare your answers with your partner’s. If you have different ideas, explain and justify
your answer.

IELTS Academic Reading Task Type 2 (ldentifying Information) and Type 3
(Identifying Writer’s Views/Claims) Activity — Sample Task

The Risks of Cigarette Smoke

Discovered in the early 1800s and named ‘nicotianine’, the oily essence now called nicotine
is the main active ingredient of tobacco. Nicotine, however, is only a small component of cigarette
smoke, which contains more than 4,700 chemical compounds, including 43 cancer-causing
substances. In recent times, scientific research has been providing evidence that years of cigarette
smoking vastly increases the risk of developing fatal medical conditions.

In addition to being responsible for more than 85 per cent of lung cancers, smoking is
associated with cancers of, amongst others, the mouth, stomach and kidneys, and is thought to
cause about 14 per cent of leukaemia and cervical cancers. In 1990, smoking caused more than
84,000 deaths, mainly resulting from such problems as pneumonia, bronchitis and influenza.
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Smoking, it is believed, is responsible for 30 per cent of all deaths from cancer and clearly
represents the most important preventable cause of cancer in countries like the United States today.

Passive smoking, the breathing in of the side-stream smoke from the burning of tobacco
between puffs or of the smoke exhaled by a smoker, also causes a serious health risk. A report
published in 1992 by the US Environmental Protection Agency (EPA) emphasized the health
dangers, especially from side-stream smoke. This type of smoke contains more smaller particles
and is therefore more likely to be deposited deep in the lungs. On the basis of this report, the EPA
has classified environmental tobacco smoke in the highest risk category for causing cancer.

As an illustration of the health risks, in the case of a married couple where one partner is a
smoker and one a non-smoker, the latter is believed to have a 30 per cent higher risk of death from
heart disease because of passive smoking. The risk of lung cancer also increases over the years of
exposure and the figure jumps to 80 per cent if the spouse has been smoking four packs a day for
20 years. It has been calculated that 17 per cent of cases of lung cancer can be attributed to high
levels of exposure to second-hand tobacco smoke during childhood and adolescence.

A more recent study by researchers at the University of California at San Francisco (UCSF)
has shown that second-hand cigarette smoke does more harm to non-smokers than to smokers.
Leaving aside the philosophical question of whether anyone should have to breathe someone else’s
cigarette smoke, the report suggests that the smoke experienced by many people in their daily lives
is enough to produce substantial adverse effects on a person’s heart and lungs.

The report, published in the Journal of the American Medical Association (AMA), was
based on the researchers’ own earlier research but also includes a review of studies over the past
few years. The American Medical Association represents about half of all US doctors and is a
strong opponent of smoking. The study suggests that people who smoke cigarettes are continually
damaging their cardiovascular system, which adapts in order to compensate for the effects of
smoking. It further states that people who do not smoke do not have the benefit of their system
adapting to the smoke inhalation. Consequently, the effects of passive smoking are far greater on
non-smokers than on smokers.

This report emphasizes that cancer is not caused by a single element in cigarette smoke;
harmful effects to health are caused by many components. Carbon monoxide, for example,
competes with oxygen in red blood cells and interferes with the blood’s ability to deliver life-
giving oxygen to the heart. Nicotine and other toxins in cigarette smoke activate small blood cells
called platelets, which increases the likelihood of blood clots, thereby affecting blood circulation
throughout the body.

The researchers criticize the practice of some scientific consultants who work with the
tobacco industry for assuming that cigarette smoke has the same impact on smokers as it does on
non-smokers. They argue that those scientists are underestimating the damage done by passive
smoking and, in support of their recent findings, cite some previous research which points to
passive smoking as the cause for between 30,000 and 60,000 deaths from heart attacks each year
in the United States. This means that passive smoking is the third most preventable cause of death
after active smoking and alcohol-related diseases.

The study argues that the type of action needed against passive smoking should be similar
to that being taken against illegal drugs and AIDS (SIDA). The UCSF researchers maintain that
the simplest and most cost-effective action is to establish smoke-free work places, schools and
public places.

BEC (2-0ii ron)
IIpumep 3anauni 111 padoThl B KJIacce

BEC ITucsmo Yacts 1

Onucanue

Ciymareny npeaiaraloT OCHOBHBIE aCTIeKThI, KOTOPBIE TPEOYIOTCS OT CTYJIEHTa B IEpBO
JyacTh nmuchMeHHoro sk3amena (BEC Higher Writing Part One. CtyieHTbl aHATH3UPYIOT MOJIEITh
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OTB€Ta B ITOHUCKAX HGO6XOI[I/IMBIX KOMITOHEHTOB yCHCH.IHOfI HUCbMEHHOM pa60T1>1, KOTOPBIC OHU
CMOTYT UCITOJIb30BaTh NMPY HAITMCAHUH COOCTBEHHOM paOOTHI.

Bpems: 60 mumn.

Marepuanni: BEC Handbook: Part 1 task (one per student), Student’s Worksheet (one
per student); BEC Handbook: Assessment (one per student)

Hean: snakomcmeo ¢ ¢opmamom 3K3amena u mpeOOBAHUAMU K Nep8OM) 3A0AHUIO
NUCbMEHHOU Yacmu nymem anaiusa Mooenu omeema.

BEC Higher Writing Part 1 - Student’s Worksheet

Script A

Report: Photocopier Costs

Of the three types of photocopiers, Carda, KD and Sebu, the purchase price of the Carda
is the lowest. It is slightly more than $600 but its expected running cost for the first two years is
the highest with its warranty cost at the mid-level of the three photocopiers.

In comparison, the purchase price of the KD is a little more than that of the Carda which
is $700; whereas the expected running cost of the KD is much less than that of the Carda which is
$1,200. However, the KD’s warranty cost is the highest of the three at $200. In comparison the
Sebu’s purchase price is the highest of the three, i.e. $1000, but it costs consumers the least in
warranty and running for the first two years.

What’s more, the expected total cost of the Carda for the initial 2-year period is $1,900,
more than that of both the Sebu and KD, $1,800.

In conclusion it would be advisable to buy the KD photocopier which is generally more
advantageous in cost than its competitors.

4.3. OueHo4HbIe CpeACTBA 1Jisl IPOMEKYTOUHON aTTeCTAINH.

4.3.1. ®opMupyemMble KOMIIETEHIIUH

Kon HaumenoBanwue Koj sTana ocBoeHus HaumeHoBaHue dTana
KOMIIETCHITH KOMIIETCHIHH KOMITCTCHITUH OCBOCHHUS KOMITETECHIIUH
u

YK-4 Crniocoben YK-4.1 CrocoOHOCTh MIPOBECTHU
OCYUIECTBIISATH JIeNoByl0 | YK-4.2 JICTIOBYIO BCTpEYy
KOMMYHUKAITUIO B YK-4.3 (myOnmu4HOE  BBICTYILICHHE)
YCTHOUN ¥ TMCbMEHHOM Ha UHOCTPAaHHOM SI3bIKE.
dbopmax Ha Cnoco6HOCTh MIPOBECTHU
rOCY/IapCTBEHHOM SI3BIKE JICTIOBYI0 ~ TIEPENHCKy  Ha
Poccuiickont @enepanuun WHOCTPAHHOM SI3bIKE.
U MHOCTPaHHOM(BIX)
si3bIKe(ax)

4.3.2 TunoBsble OlleHOYHbIE CPEACTBA

MpumMepsbl dk3aMmeHaUOHHBIX TecToB (IELTS)
AynupoBaHue




Questions 39 and 40
Choose TWO letters A-F.
The oil tanker explosion was an example of a crime which

was no-one’s fault.

was not a corporate crime.

was intentional.

was caused by indifference.

had tragic results.

made a large profit for the company.

TEOOW

Yrtenue

READING PASSAGE 3

You should spend about 20 minutes on Questions 27—40, which are based on Reading Passage 3
below.

The Return of Artificial Intelligence

It is becoming acceptable again to talk of computers performing
human tasks such as problem-solving and pattern-recognition

A After years in the wilderness, the term ‘artificial intelligence’ (Al)
seems poised to make a comeback. Al was big in the 1980s but
vanished in the 1990s. It re-entered public consciousness with the
release of Al, a movie about a robot boy. This has ignited public
debate about Al, but the term is also being used once more within
the computer industry. Researchers, executives and marketing
people are now using the expression without irony or inverted
commas. And it is not always hype. The term is being applied, with
some justification, to products that depend on technology that was
originally developed by Al researchers. Admittedly, the
rehabilitation of the term has a long way to go, and some firms still
prefer to avoid using it. But the fact that others are starting to use
it again suggests that Al has moved on from being seen as an over-
ambitious and under-achieving field of research.

B The field was launched, and the term ‘artificial intelligence’ coined, at a conference in 1956 by
a group of researchers that included Marvin Minsky, John McCarthy, Herbert Simon and Alan
Newell, all of whom went on to become leading figures in the field. The expression provided an
attractive but informative name for a research programme that encompassed such previously
disparate fields as operations research, cybernetics, logic and computer science. The goal they
shared was an attempt to capture or mimic human abilities using machines. That said, different
groups of researchers attacked different problems, from speech recognition to chess playing, in
different ways; Al unified the field in name only. But it was a term that captured the public
imagination.
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C Most researchers agree that Al peaked around |1985. A public reared on science-fiction
movies and excited by the growing power of computers had high expectations. For years,

Al researchers had implied that a breakthrough was just around the corner. Marvin Minsky said
in 1967 that within a generation the problem of creating ‘artificial intelligence’ would be
substantially solved. Prototypes of medical-diagnosis programs and speech recognition software
appeared to be making progress. It proved to be a false dawn. Thinking computers and

household robots failed to materialise, and a backlash ensued. ‘There was undue optimism in the
early 1980s, says David Leake, a researcher at Indiana University. “‘Then when people realised
these were hard problems, there was retrenchment. By the late 1980s, the term Al was being
avoided by many researchers, who opted instead to align themselves with specific sub-disciplines
such as neural networks, agent technology, case-based reasoning, and so on!

D lIronically, in some ways Al was a victim of its own success. Whenever an apparently mundane
problem was solved, such as building a system that could land an aircraft unattended, the
problem was deemed not to have been Al in the first place. ‘If it works, it can’t be Al,' as

Dr Leake characterises it. The effect of repeatedly moving the goal-posts in this way was that

Al came to refer to ‘blue-sky’ research that was still years away from commercialisation.
Researchers joked that Al stood for ‘almost implemented’. Meanwhile, the technologies that
made it onto the market, such as speech recognition, language translation and decision-support
software, were no longer regarded as Al. Yet all three once fell well within the umbrella of

Al research.

E But the tide may now be turning, according to Dr Leake. HNC Software of San Diego, backed
by a government agency, reckon that their new approach to artificial intelligence is the most
powerful and promising approach ever discovered. HNC claim that their system, based on a
cluster of 30 processors, could be used to spot camouflaged vehicles on a battlefield or extract
a voice signal from a noisy background — tasks humans can do well, but computers cannot.
‘Whether or not their technology lives up to the claims made for it, the fact that HNC are
emphasising the use of Al is itself an interesting development,’ says Dr Leake.

F Another factor that may boost the prospects for Al in the near future is that investors are
now looking for firms using clever technology, rather than just a clever business model, to
differentiate themselves. In particular, the problem of information overload, exacerbated by the
growth of e-mail and the explosion in the number of web pages, means there are plenty of
opportunities for new technologies to help filter and categorise information — classic Al
problems. That may mean that more artificial intelligence companies will start to emerge to
meet this challenge.

G The 1969 film, 2001:A Space Odyssey, featured an intelligent computer called HAL 9000. As
well as understanding and speaking English, HAL could play chess and even learned to lipread.
HAL thus encapsulated the optimism of the 1960s that intelligent computers would be
widespread by 2001. But 2001 has been and gone, and there is still no sign of a HAL-like
computer. Individual systems can play chess or transcribe speech, but a general theory of
machine intelligence still remains elusive. It may be, however, that the comparison with HAL no
longer seems quite so important, and Al can now be judged by what it can do, rather than by
how well it matches up to a 30-year-old science-fiction film. ‘People are beginning to realise that
there are impressive things that these systems can do, says Dr Leake hopefully.



Questions 27-31
Reading Passage 3 has seven paragraphs, A-G.

Which paragraph contains the following information?
Write the correct letter A—G in boxes 27-31 on your answer sheet.
NB  You may use any letter more than once.

27 how Al might have a military impact
28 the fact that Al brings together a range of separate research areas
29  the reason why Al has become a common topic of conversation again

30  how Al could help deal with difficulties related to the amount of information available
electronically

31  where the expression Al was first used

Questions 32-37
Do the following statements agree with the information given in Reading Passage 37
In boxes 32-37 on your answer sheet, write

TRUE if the statement agrees with the information
FALSE if the statement contradicts the information
NOT GIVEN if there is no information about this

32 The researchers who launched the field of Al had worked together on other projects in
the past.

33 In 1985, Al was at its lowest point.

34 Research into agent technology was more costly than research into neural networks.

35 Applications of Al have already had a degree of success.

36 The problems waiting to be solved by Al have not changed since 1967.

37 The film 200!: A Space Odyssey reflected contemporary ideas about the potential of Al
computers.

Questions 38—40
Choose the correct fetter A, B, C or D.
Write your answers in boxes 38—40 on your answer sheet.

38 According to researchers, in the late 1980s there was a feeling that

A a general theory of Al would never be developed.

B original expectations of Al may not have been justified.

C  a wide range of applications was close to fruition.

D  more powerful computers were the key to further progress.

39 In Dr Leake’s opinion, the reputation of Al suffered as a result of

A changing perceptions.

B  premature implementation.
C  poorly planned projects.

D commercial pressures.

40 The prospects for AI may benefit from

A existing Al applications.

B new business models.

C orders from internet-only companies.
D new investment priorities.



WRITING

WRITING TASK 1

You should spend about 20 minutes on this task.
The graph below shows the demand for electricity in England during
typical days in winter and summer. The pie chart shows how electvicity is

used in an average English home.

Swmunarise the information by selecting and reporting the main features,
and make comparisons where relevant.

Write at least 150 words.

Typical daily demand for electricity
40,000 _/\\
2 30,000 Winter
o
‘e
rl
@
S 20,000 -—
® _
5 '\/ \_’—J\
> Summer
10,000
Ohs 3 & 9 12 18 18 21 24
What the electricity is used for:
@ 52.5% Heating rooms, heating water
@ 17.5% Ovens, kettles, washing machines
(3 15%  Lighting, TV, radio
{(4) 15%  Vacuum cleaners, food mixers, electric tools

WRITING TASK 2
You should spend about 40 minutes on this task.
Write about the following topic:
Happiness is considered very important in life.
Why is it difficult to define?
What factors are important in achieving happiness?

Give reasons for your answer and include any relevant examples from your own
knowledge or experience.

Write at least 250 words.
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PART 1

The examiner asks the candidate about him/herself, hisfher home, work or studies and
other familiar topics.

EXAMPLE

Telephoning

» How often do you make telephone calls? [Why/Why not?]

* Who do you spend most time talking to on the telephone? [Why?]

* When do you think you'll next make a telephone call? [Why?]

» Do you sometimes prefer to send a text message instead of telephoning? [Why/Why not?]

PART 2

Describe a journey [e.g. by car, You will have to talk about the topic
plane, boat] that you remember well. for one to two minutes.

You have one minute to think about
what you are going to say.

You can make some notes to help
you if you wish.

You should say:

where you went

how you travelled

why you went on the journey
and explain why you remember this
journey well.

PART 3
Discussion topics:
Reasons for daily travel

Example questions:

Why do people need to travel every day?

What problems can people have when they are on their daily journey, for example to
work or school? Why is this?

Some people say that daily journeys like these will not be so common in the future. Do
you agree or disagree? Why?

Benefits of international travel

Example questions:

What do you think people can learn from travelling to other countries? Why?

Can travel make a positive difference to the economy of a country? How?

Do you think a society can benefit if its members have experience of travelling to other
countries? In what ways?
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Mpumep rx3ameHanoHHoro tecra (BEC)
AynupoBaHue

PART TWO
Questions 13 - 22

+  You will hear five different business people talking about trips they have recently been on.

+  For each extract there are two tasks. For Task One, choose the purpose of each trip from the list
A - H. For Task Two, choose the problem described from the list A — H.

. You will hear the recording twicea.

TASK ONE - PURPOSE

+«  For questions 13 = 17, match the extracts with the purposes, listed A - H.
+  For each extract, choose the purpose stated.
+ \Write one letter (A — H) next to the number of the extract.

A to supervise staff training
13 B to hold job interviews
14 C tointroduce new policy

D to visit possible new premises
15 E to observe working practices
16 F to meet a new manager

G to sign a new contract
1 H to deal with a complaint

TASKTWO - PROELEM

+  For questions 18 — 22, match the extracts with the problems, listed A - H.
+  For each extract, choose the problem described.

+«  Write one letter (A — H) next to the number of the extract.

18 A | forgot a document.
B My hotel was noisy.
19 C | was late for a mesting.
20 D |didn't understand some figures.
E The service at my hotel was bad.
21 F | had some wrong information.
22 G | didn't have an interpreter.
H | experienced computer problems.
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PART ONE
Questions 1 -8

*« Look at the statements below and at the five extracts from an article on the opposite page about
organisations which outsource (OWOs). These are organisations which give contracts for some
of their activities to be run by managed service suppliers (MS5Ss).

«  Which article (A, B, C, D or E) does each statement 1 — 8 refer to?
*  For each statement 1 — 8, mark one letter (A, B, C, D or E) on your Answer Sheet.
*  You will need to use some of these letters more than once.

» There is an example at the beginning, (0).

Example:

0  There are signs that some MSSs are moving into foreign markets.

A B C D E
0 e = = =

1 There is a risk that outsourcing foo many operations could weaken an OWO.

2 OWOs are finding that they need to adapt their management methods as a result of the
increased outsourcing they commission.

3 There are different ways of assessing the total financial worth of outsourced business.

4  There may be improvements for an OWO's staff when it outsources services.

5 Despite their success in business terms, MSSs may not be high profile.

6 OWOs may not have consistent policies with regard to MSSs.

7 Itis theoretically possible for the majority of an OWO's activities to be contracted to MSSs.

8 Outsourcing is affecting the way performance is measured in some areas of business.



Basic activities such as catering, cleaning and
security were often the first to be contracted out
as both the private and public sectors yielded to
the 1990s" philosophy of concentrating on core
activities. As a result of outsourcing, many
canteens have lost their institutional atmosphere
and resemble high-street retail outlets, boosting
both the range of products and facilities for
workers and the MS5s" turnover. Profits from the
growing UK outsourcing market are helping the
bigpgest catering MSSs to expand overseas as the
industry develops a global dimension.

Estimates of the scope and value of managed
service supplying vary according to the
definitions used of what activities are included or
excluded in calculations. Although some MSSs
are large — for example, the Alfis Group is, with
200,000 employees, one of the ten biggest
private sector employers in Europe — they enjoy
little of the public name recognition of the
OWOs for whom they work. At the same time, in
fields such as IT and resecarch, OWOs now
outsource not only non-core activities but also
those where they believe specialist MSSs can
bring additional expertise.

The growth of outsourcing means that a number
of MS5s are finding themselves drawn into the
established managerial thinking of their OWOs
to a point where their reputation becomes
dependent on the OWO's performance — in both
positive and negative ways. This and other
consequences of prowth are pgenerating calls
from MS55s for both the private sector and
governments to think more strategically about
their relationship with MSSs, rather than on a

disjointed contract-by-contract basis.

19

There are signs that the spread of contracting out
to MSSs 1s impacting on the way OWOs are run,
generating a need for high-level staff who will be
skilled at negotiating and handling relationships
with pariner organisations rather than simply
giving internal directions. Meanwhile, many
MSSs face new employment and recruitment
issues as their workforces often consist of staff
inherited from dozens of organisations in both

the public and private sectors.

The growth in outsourcing has coincided — and
may continue to coincide — with increasing
interest in the concept of the virtual organisation
— one which chooses to outsource almost
everything so that it can concentrate on handling
relationships with its clients. However, a recent
report warns that the notion of virtual
organisations must be balanced against the
negative possibility of ‘hollow’ organisations,
left with only a ‘fragile shell remaining’. The
report also expresses concern that some large
MSSs have ‘graduvally taken control of
significant parts of public sector activities',
changing the basis on which the success or
otherwise of those activities is assessed.
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PART TWO
Questions 2 -4

» Write an answer to one of the questions 2 — 4 in this part.
»  Write 200 — 250 words on pages 5 and 6.

»  Write the question number in the box at the top of page 5.

Question 2

= Your manager is keen to introduce new practices into your company. He has asked you to write a
report which includes details of two practices from another company which you would suggest
adopting in your own company.

= Write the report for your manager, including the following information:
+«  what you admire about the other company
*  Which two of its practices you would adopt

» why your company would benefit from them.

Question 3

»  Your company has employed an outside consultant to organise an exhibition of your products, to
be held next month. His work is unsatisfactory, and your boss has now decided that you should
take over full responsibility instead. Your boss has asked you to write to the consultant to explain
why he has been replaced.

«  \Write the letter to the consultant:
+ giving two reasons why he has been replaced
+ telling him he will be paid for this work

» asking him to brief you on the current situation.

Question 4

= Your company has decided to conduct an investigation into the possibility of increasing the
number of ways in which technology is used throughout the organisation. You have been asked
to write a proposal concerning the use of technology in your department for the Managing
Director.

«  Write your proposal, including the following:
*  a brief outline of the current uses of technology in your department
+  adescription of what technological improvements could be made
= an explanation of the benefits these changes might bring

» recommendations for the kind of training that would be necessary.
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Staff Relocation

relocation attractive for staff.

Discuss, and decide together:

Your company needs to relocate several members of staff to a new branch opening in
another part of the country. You have been asked to submit ideas on how to make

« which types of financial incentives the company could offer to staff

« what information staff would need to know about the new location

HIkajga oneHuBaHuA.

IToxka3zarean oneHUBAHUSA

Kpurepuii oueHuBanust

Ompenenser 1 00OCHOBBIBAET LENb ITyOIUYHOTO
BBICTYIUICHUS (ITPOBEIICHNUS ICIIOBOM BCTPEUH).
BriOupaer  ajeKBaTHYIO dbopmy  menoBoi
KOMMYHHKAIIH.

Pa3pabatpiBaeT 1uIaH MYOJIMYHOTO BBICTYIUICHUS
(memoBoii BcTpeun).

[ToxOupaer anexkBaTHbIE apryMEHTHI, YIPABISET
KOMMYHHKaIUen

JleMOoHCTpHpYeT 3HaHHE HOPM JIEIOBOTO STHKETa
JlenaeT 000CHOBaHHBIE BHIBOIBI

Breibupaer  anmekBatHyro  QopMy  JI€TOBOTO
JIOKyMEHTA.
CoOmogaer TpeOOBaHUS K  S3bIKY  JI€JIOBOTO
JIOKyMEHTA.
Cobimonaet TpedoBanus 10 0GOPMIIEHHUIO JIETOBOTO
JIOKyMEHTA.
OtOupaer conepkaHue JAEJIOBOTO JOKYMEHTa,

aJICKBATHOC 1ICJIN €0 HalTMCaHUA

[Inan yeTkuit, OpUEHTHPOBAH HA JOCTHIKEHUE LIETH
BricTpoeHa ~ BHYTpeHHSS ~ JIOTHKA  JIEJIOBOM
KOMMYHUKAIIH

Caplmut cobeceHuKa

OOGOCHOBBIBAET BBIBOABI MCXOASl U3 MOCTABJIEHHOM
Lenu

TexcT BbINONHEH ¢ COONIOAEHUEM CTHIMCTHYECKUX
HOpM

B TekcTe He JOIMymIeHO S3bIKOBBIX OMINOOK
Bemonnensl  TpeGoBaHus 10 O0GOPMIICHHIO
JOKyMEHTA

ConepxaHne NTOKYMEHTa JIOTUYECKH BBICTPOCHO B
COOTBETCTBHUHM C BRIOpaHHOW (hopMoi

CaMOCTOSITEIILHO IUIaHUPYET U MPOBOAUT ACIIOBYHO

BCTpedy (myOnmuuHOE BBICTYIICHHUE) Ha
UHOCTPaHHOM SI3bIKE
JleMoHCTpUpPYyeT cBOOOIHOE BJIaJICHUE

CHenu(pUUECKON JIEKCUKOW, pacHpOCTpaHEHHON B
JIEI0BOM cdepe

JleMOHCTpHpYyET 3HaHUE JIETI0BOTO ITUKETA CTPAHbI
KOHTpareHTa

He ucnbIThIBaeT 3aTpyiHeHHI B BBIOOpE SI3BIKOBBIX
CPEICTB

Peub rpamoTHas, cBOOOAHAs

Capiut coOecelHuKa aZieKBaTHO pearupyeT Ha ero
apryMeHTalLNIo

He nomyckaet pedeBbIX OIMO0K
Bunaneer cnenuduyeckoi
pacrpocTpaHEHHOM B IETTOBOM cdepe

JIEKCUKOH,

BeiOupaer  amexkBatHyro  Qopmy  zmenoBoro
JIOKyMEHTa CTPaHbl KOHTpareHTa.
CoOmomaer TpeOOBaHUS K  S3BIKY J€JIOBOTO

JOKYMCHTA CTpaHbl KOHTparcHra.

TekcT BBINIOJIHEH C COOJIFONEHUEM CTIJIMCTUYECKAX

HOPM
B Tekcre He momyIieHo omnuOoK
Breimonnensr  TpeGoBaHMsT 1O OQOPMIICHHIO
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Cobmronaet TpeboBaHus 10 0(POPMIICHUIO IETIOBOTO | TOKYMEHTa
JIOKyMEHTa CTPaHbl KOHTPAreHTa.

OtOupaer conepxaHue

aJICKBATHOC 1CJIM €0 HAalTUCaHUA

ConepxaHue JOKyMEHTa JOTHYECKH BBICTPOEHO B

JICIOBOTO  JTOKYMEHTA, | COOTBETCTBHH C BEIOpaHHOM (hopMoi

Hcnonp3oBana cnenupuyeckas JIEKCHKA,
MpUMeHsieMast B JIeJI0BO cepe

bansl
(peiiTHHrOBOM
otieHkn), %

OueHka

TpeOoBaHus K 3HAHUAM

100-81

5,

KOTIIUYHO»

- O1neHKa «OTIMYHO» BBICTABIISETCS CTYJEHTY, €CJIU OH
mIyOOKO M MPOYHO YCBOMJI IPOrPaMMHBIM Marepua,
HCUEPIIBIBAIONIE, IOCIIEAOBATEIbHO, YETKO M JIOTUYECKH
CTPOMHO €ro Hu3JaracT €ro Ha 3K3aMEHE, yMEET TECHO
YBSI3bIBaTh TEOPHIO C MPAKTHKOM, CBOOOIHO CIIpaBIsAETCS C
3ajjadyaMy, BONPOCAMU M JAPYIMMH BHJAMM IPUMEHEHUS
3HaHUH, TMpPUYEM HE 3aTPydHSETCS C OTBETOM IIpU
BUJOM3MEHEHNUU 3aJJaHUM, HCIIOJIb3YyEeT B OTBETE Marepuall
MOHOIpaUUECKON JINTEPATYPHl, MPABUIBHO 0OOCHOBBIBAET
IIPUHSTOE PELICHUE.

- VY4ueOHble JOCTHKEHHs B CEMECTPOBBIM IEpUON U
pe3ynbTataMud  pyOeXHOIO  KOHTPOJIS — JIEMOHCTPUPYIOT
BBICOKYIO CTETIEHb OBJIa/ICHUSI IPOIPaMMHBIM MaTEpUajIoM.

80-61

4, «XOpomIo»

- OneHka «XOpoIo» BBICTABISIETCS CTYIEHTY, €CIH OH
TBEPJI0 3HAET Marepuai, FPaMOTHO U IO CYILECTBY HU3JIaraeT
ero, He JIOMyCKas CyIIECTBEHHbIX HETOUHOCTEH B OTBETE Ha
BOIPOC, NMPaBUIbHO IPUMEHSET TEOPETUYECKUE TIOJIOKEHUS
IOpU pelIeHUN NPAaKTUYECKUX BOMNPOCOB U 3ajad, BiaJeeT
HEOOXOTMMBIMHU HAaBBIKAMH U IIPUEMaMH UX BBITOJIHEHHMS.

- VY4eOHble AOCTHXKEHUS B CEMECTPOBBIM mepuoa M
pesyiabraTaMu  pyOE€KHOTO  KOHTPOJIS — JE€MOHCTPUPYIOT
XOPOILYIO CTENEHb OBJIAJIECHUS IPOrPAMMHBIM MaTEPUaJIOM.

60-41

3,
«yHOOBJICTBO-
PUTCIIBHO»

- Onenka «yJOBJIETBOPUTEIILHO» BBICTABJISIETCS
CTyJECHTY, €CIIM OH HMEET 3HAaHUSA TOJIBKO OCHOBHOIO
Marepuanga, HO HE YCBOMJI €ro JeTajeid, IOIyCKaeT
HETOYHOCTH, HEJOCTAaTOYHO IpPaBUJIbHBIE (OPMYIHPOBKH,
HapyLIEHUs! IOTHYECKON MOCIIE0BATEIILHOCTH B U3JIOKEHUH
IIPOrPaMMHOI0 Marepuajla, UCHBITBIBAECT 3aTPYIAHEHUS IIPH
BBINOJIHEHUH IPAKTUYECKUX PaboT.

- VY4eOHble AOCTHXKEHUS B CEMECTPOBBIM mepuox u
pe3yinbTataMu  pyO€KHOIO  KOHTPOJS — JI€MOHCTPUPYIOT
JOCTaTOuHYH (YIOBJIETBOPUTEIBHYIO) CTEIICHb OBJIAICHUS
IIPOrPaMMHBIM MaTEPUAJIOM.

40-0

2,
«HEY/IOBJIET-
BOPUTEIBLHO»

- OneHka  «HEYJIOBJIETBOPUTEIBHO»  BBICTABIISETCS
CTYNEHTY, KOTOpbIA HE 3HAeT 3HAUYUTEIIbHOM YacTH
MPOTPAaMMHOI0  Marepuana, JOIYCKAaeT CYIIECTBEHHBIE
OmMOKH, HEYBEPEHHO, ¢ OOJBIIUMHU 3aTPyTHEHUSIMH
BBHITIONHAET TpakTHueckue paboThl. Kak mpaBuiio, oleHKa
«HEYIOBJIETBOPUTEILHO» CTaBUTCS CTYIEHTAaM, KOTOpPbHIE HE
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MOTYT MPOJIOJDKUTH 00y4YeHHEe 0e3 JOMOIHUTEIbHBIX 3aHITHIA
10 COOTBETCTBYIOLIEH AUCLMILIMHE.

- VY4eOHbIe JOCTHKEHHS B CEMECTPOBBIA NEpUON U
pesyibTaTaMu pyOeKHOTO KOHTPOJIS JEMOHCTPUPOBAIM HE
BBICOKYIO CTEME€Hb OBJIAJICHUS MPOTPAMMHBIM MaTepUaIOM
10 MUHUMAJIbHOM IJIaHKE.

— Kypc mnonnocteto ocBoeH. CTyIeHT IOKa3bIBaeT
XOpOILIMH CTAaHJAPTHBIM YpOBEHb 3HAHMM BCEX AaCIIEKTOB,

45-100 3auer
UCTIOJNIB3YET TEPMHUHOJIOTHIO U CJIOBOOOPA30BAHKE U XOPOIIIO
MPUMEHSIET TCOPHIO K PEIICHHUIO 3a/1ad.
- CT CHT HC IIOATI'OTOBJICH M HC MOXCT IIOKa3aThb
0-44 Hezauer YA a

JIOCTAaTOYHOTO 3HaHUS MaTepuaa Kypca.

4.4 MeToanueckue peKOMeH Al

3HaHUs cilyliaTesaeil IpOBEPSIOTCS IMyTEM TECTUPOBaHUSA. TecT sABISETCS MONBITKONW M3MEPUTH
YPOBEHb OCBOEHHSI CIIyIIaTeNeM 3HAHWH M yMeHuil. TecT BKIO4aeT B ce0s CIeAyIOIne YacTH:
ayJMpOBaHKE, YTEHUE, TOBOPEHUE U NUCbMO. UTeHNME U ayIMpOBAaHME. YTEHUE U BOCIIPUATUE HA
ci1yX nH(GOpMaIUHU Ha s3bIKe 00yUueHUS sIBIIseTCs 3P PEKTUBHBIM CPEICTBOM Pa3BUTHSI IOHUMAHUS
U IIONOJHEHHs CIOBApHOTO 3amaca. BaXHbIM B pa3BUTUM JAaHHBIX HABBIKOB SBIIAETCS
(dopMHpOBaHUE aKTUBHOM MO3UIMM YUTAIOLIETO U CIYLIAIOIIET0.

Pa3BuTHe HaBBIKOB MHCHbMa SBISETCS OJHUM U3 KIIIOYEBBIX A 3(PPEKTUBHOTO ydacTHs B
aKaJieMHuecKoM mpouecce. J[aHHbI HaBbIK HEPa3pbIBHO CBS3aH C Pa3BUTHEM UTEHUS, TAK Kak
yepes UTEHUE U aHaIHM3 TEeKCTa y ciymiarens GopMUpyeTcs MpeACcTaBleHUue O CTPYKType TEKCTa,
MOHATHE OO0 HCIIOJB30BAHUM JIEKCHYECKUX CIUHUI B OIIPCACIICHHOM KOHTCKCTC MW JJIA
ONPEAEIICHHBIX LIEJIEH.

Pa3BuTHe HaBBIKOB TOBOpEHHs BKJIIOYaeT B ceOd pa3BuUTHE OEIJIOCTH pedH, oOydeHue
AIIIPOKCUMUPOBAHHOMY IIPOM3HOIICHHIO, a TaKXe IPABUIBHOMY HCIOJIB30BAaHUE CIIOB H
CTPYKTyp. 11 pa3BUTHs JaHHOTO HAaBbIKA BAaKHBIM INPEJCTABISAETCS YacTOE HCIIOJIb30BAHHE
U3y4aeMoOro s3plka B Ppa3JIMYHBIX KOHTEKCTaX: B OOIIEHWH C OJHOTPYIITHUKAMH,
IIPENOIAaBaATENIMM, HOCUTEISIMU sI3bIKa. J[JI1 pa3sBUTHs IPOU3HOIICHHMS MOXHO HCIIOIb30BATh
YTEHHUE BCIIyX, MIOBTOPEHUE 3alMCAHHBIX OTPBIBKOB, CTAapasiCh MOBTOPUTH PUTM, UHTOHALMIO U
POM3HOLIEHNE OpUTrHHaa. Takke MOKHO 3alUChIBaTh ce0s1, YTOOBI ONPENEIUTh CBOU CUIIbHBIE
U ciabble CTOPOHBI.

5. MeToanyeckne yka3anus J1Jisi 00y4aIUIUXCS M0 OCBOSHU) IUCHUILTHHBI (MOTYJIs1)

S13bIKOBBIC HABBIKM PA3BHUBAIOTCS MOCPEACTBOM MOATOTOBKH K TECTUPOBAHHUIO, HCIIONB3yEMBIX B
MexnyHapoHO# cucTeMe TecTHpoBaHus aHruiickoro si3pika (IELTS) B Teyenue nmeporo roma
oOyuenus1, a Takke cepruduxarom Cambridge Business English Certificate (BEC) B TeucHue
BTOPOTO. TeMbI OXBaTHIBAIOT TMPEJAMETHI, IMEIOINE OTHOIICHNE K aKaJeMHYECKUM TIpeaMeTam, u
OXBAaTBhIBAIOT OCHOBHBIC HABBIKM UTEHMS, MHCbMA, ayaupoBaHMs U YCTHOH peun. [Ipeamer
o0ecrieynBaeT OPHEHTUPOBAHHBIN HA YICHHKAa KOMMYHHUKATUBHBINA MOAX0 K 00YYEHHIO.



24

6. VYueOHasi quTepaTypa U pecypchbl HHPOPMAIMOHHO-TEJTEKOMMYHHKAIIMOHHOM ceTH
"NHTepHeT"', BKJIIOYaA NepevyeHb Y4eOHO-MeTOUIeCKOro odecrnevyeHus 1Jis
CaMOCTOAITEJILHOI PaGoThI 00y4AIOLIUXCS 10 THCHUILTHHE (MOTYJII0)

6.1. OcHoBHas nUTEpaTypa.

1. CmupnoBa, H. B. Anmmiickuii 361K st MeHexepoB (B1-B2) © yueOHUK a1 cpeiHero
npodeccronansHoro oopasosanus / H. B. Cmupnosa, A. B. Cokosnosa, 0. A. lyrmac. —
Mocksa : M3natensctBo FOpaiit, 2020.

6.2. JlomoJIHUTENbHAS TUTEPATYPA.

1.Typyxk W.®. English for Students of Management [DnextponHbiii pecypc] : ydeOHO-
meronuueckuii kommieke / U.®. Typyk, E.M. JlobaHoBa. — DIJEKTPOH. TEKCTOBHIC
nannabele. — M. | EBpa3zuiickuii oTkpbIThIif nHCTUTYT, 2010. — 124 ¢. — 978-5-374-00118-
1. — Pexwum pocryma: http://www.iprbookshop.ru/10586.html

2.English grammar [9nexktponHslii pecypc] : yueOHOE TOCOOHE 110 TPaMMAaTUKE aHTIIHICKOTO
s3bIKa JUIS CTYACHTOB HEs3bIKOBBIX crenuanbHocteil /| FO.A. WBanoBa [u mp.]. —
DJeKTpOoH. TeKCTOBBIE AanHbIe. — CapaToB: By3oBckoe ob6paszoBanue, 2015. — 213 ¢. —
2227-8397. — Pexum noctyna: http://www.iprbookshop.ru/27158.html

3.dpo3mosa T.FO. The Keys. English Grammar: Reference and Practice. Version 2.0
[@nexrponnsrii pecypc] / T.1O. [Ipo3nosa, B.I'. Maunosa, A.1. bepecroBa. — DIEKTPOH.
texkcToBble maHuele. — CII6. : Antomorus, 2013. — 96 ¢. — 978-5-94962-240-7. —
Pexxum noctyna: http://www.iprbookshop.ru/42396.html

4 Mepkyinosa H.B. Aurnmiickuii s3pik B cdepe ympasiaenus / English for Management
[Dnextponnsii pecype] : yueonoe mocobue / H.B. MepkyioBa. — DJIEKTPOH. TEKCTOBBIE
JaHHble. — BopoHex: BopoHEKCKUl rocyaapCTBEHHBIM ApPXUTEKTYPHO-CTPOUTEIbHBIN
yauBepcuret, ObC ACB, 2016. — 124 c. — 978-5-89040-582-1. — Pexum nocryna:
http://www.iprbookshop.ru/59141.htmi

6.3. YueOHO-MeToquIecKoe 00eCIeueHne CaMOCTOSTEIIbHON paboThI.
6.4. HopmaTuBHBIE TPABOBBIE IOKYMEHTHI.

6.5. IaTepHeT-pecypchl.

Onestopenglish is a resource site for English language teachers
(http://www.onestopenglish.com/index.asp?catid=59495).

Ted is a is a global set of conferences

(https://www.ted.com/talks)

Online quizzes

http://www.grammar-guizzes.com/

6.6. lHbIe HCTOYHUKH.

Fairfax, B. & Trzeciak, J. English for academic study series: Reading. Longman, 1999

Glendinning, E. H. & Holmstrom B. Study Reading. CUP, 2004

Lee, L., & Gundersen, E. Select readings (pre-intermediate — upper-intermediate). OUP, 2001.

Roberts, R., Gakonga, J., Preshous, A. IELTS Foundation Study Skills Pack - Academic Module.
Macmillan,2004.

Craven, M. Extending Reading Keys. Macmillan, 2002.

Hamp-Lyons, L. English for academic purposes. The Cambridge guide to teaching English to speakers of
other languages. Cambridge University Press, 2001

Wallace, M. J. Study Skills in English. CUP, 2004

Greenall, S., & Pye, D. Cambridge Skills for Fluency. Reading 1 — 4. CUP 1997.
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7. MarepuajJbHO-TeXHMYECKas 0a3a, HH(POPMAIMOHHBbIE TEXHOJOTMHU, IPOrPAMMHOE
o0ecreyenne U HHGOPMALMOHHBbIE CIIPABOYHbIE CUCTEMBI.

Jns mnpoBeneHus Kkypca TpeOyercs kiacc, OOOpYIOBAaHHBIM JOCKOM, MapKepamu,
KOMITBIOTEPOM U IIPOEKTOPOM.

Wzyuenue nucuuruiiHbl TpeOyeT Haluyhe MEePCOHANbHBIX KOMIIBIOTEPOB M HHTEPHET-
KJIACCOB JJIsl TIOMCKAa JIOTIOJHUTENIbHOW WH(POPMALUU BO BpPEMsSI CAMOCTOSTEIHHON pPabOTHI
CTYJICHTOB.
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